Write the equation of the perpendicular bisector of segment AB
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List the angles of triangle RST in order from smallest to biggest if
R(-3, 1), S(2, -1) and T(5, 4)
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Practice:

Find each measure.
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Use the figure for #1-2.

1. Given that line m is the perpendicular bisector of

FH and EH = 100, find EF. )0 ik
2.Given that EF=13, FH=10, and EH = 13, find GH. =3
Use the figure for #3-6.
3. Given that line p is the perpendicular bisector of X
XZ and XY =15.5, find ZY. i5.s
4. Given that XZ =38, YX=27,and YZ =27, . il
|
find ZW. 14 “""”5 L F e
5. Given that line p is the perpendicular bisector of X_Z; XY =4n, b%’\
o = Un=1Y
and YZ = 14, find n. 2 = 357 _ —7!
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6. Giventhat XY=2Y, WX=6x—-1, and XZ=10x + 16, find ZW. S
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Use the figure for Exercises #7-8.
7.Given that JL bisects #KJM and KL = 42, find ML. Y

8. Given that KL =4 and ML =4 and m£MJL = 40°, find
O
m2KJL. Yo

Use the figure for Exercises #9-12.
9. Given that FG = HG and m£FEH = 56°, find
mZGEH. ReE"
10. Given that EG bisects Z/FEH and GF = Jf find GH.
N
11. Given that ZFEG = £LGEH, FG =10z - 30, and
HG =7z + 6, find FG. 4o

12. Given that GF = GH, mZGEF = 8a°, and mZGEH = 24°, find a.
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Solve each proportion
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Find the value for x.
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Find the value for x.
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